Algebra 1/Geometry Pre-Test

	1. 
	Find the next two terms of this sequence: 3, 7, 11, 15, 19, _____, _____

	A.
	24, 27

	B.
	23, 26

	C.
	23, 27

	D.
	21, 23


	2. 
	Solve this problem: 5 - (-2) = ?

	A.
	7

	B.
	-7

	C.
	3

	D.
	-3


	3. 
	Solve this problem: -2 - 5 = ?

	A.
	7

	B.
	-7

	C.
	-3

	D.
	3


	4. 
	Solve this problem: (-3)(-6) = ?

	A.
	9

	B.
	-18

	C.
	21

	D.
	18


	5. 
	Solve this problem using order of operations: 3( 7 + 4 x 2) - 100 = ?

	A.
	-34

	B.
	-25

	C.
	-55

	D.
	55


	6. 
	A triangle has a total of how many degrees?

	A.
	90

	B.
	180

	C.
	360

	D.
	540


	7. 
	Two angles whose sum is 90 degrees are called _________.

	A.
	Supplimentary

	B.
	Right

	C.
	Acute

	D.
	Complimentary


	8. 
	A regular polygon has ___________.

	A.
	All equal sides

	B.
	All equal angles

	C.
	A and B

	D.
	None of the above


	9. 
	Two lines with a common endpoint and vertex for a/an ____________.

	A.
	Ray

	B.
	Angle

	C.
	Polygon

	D.
	Line Segment


